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Instructions:

1. All Questions are Compulsory.
2. All Questions carry equal marks.
3. Figures to the right indicate full marks

Q.1.Choose the Correct alternatives from the following. 15

1

10

11

Human Development Report is published by ----------------

A) World Trade Organization B) United Nations Development Programme C) International Monetary
Fund D) World Bank

In India 2011, the literacy rate was ---------- .

A)40.4 B) 50.4 C) 60.4 D) 74.4

India ranks ------------ in the world population.

A) First B) Second C) Third D) Fourth

The average number of persons living per square K.M. is known as-------- of population.
A) Density B) Growth C) Health D) All of the above

--------------- unemployment is existed in Agriculture sector.

A) Disguised B) Open C) Frictional D) Cyclical

———————————— is per-day calorie estimate of poverty for urban economies.

A) Less than 2400 B) Less than 2200 C) Less than 2100 D) Less than 2000
Which of the following are examples of self-employment programs in India?

A) Swarna Jayanti Shahri Rozgar Yojna B) Prime Minister’s Rozgar Yojna C) Swarna Jayanti Gramin
Swa Rozgar Yojna D)AIl of the above

------------ is per-day calorie estimate of below poverty line for rural economies .
A) Less than 2400 B) Less than 2200 C) Less than 2100 D) Less than 2000

The first Industrial policy was introduced in India on ----------- .

A) 1948 B) 1956 C) 1991 D) 1977

——————— is the problem of India’s social inequality.

A) Lack of Education facilities B) Lack of Programme of women Empowerment C) Lack of Special
training Programme D) All of these

In India Economic Planning was started in -------------- year.

A) 1951 B) 1952 C) 1947 D)1991



12 According to ----------- due to backwash and spared effects action and reaction, backward region
remains backward.
A) Prof. Myrdal B) Keynes C) Lewis D) Marshall
13 - is the author of a book “famine and poverty”
A) Amartya sen B) Gunnar Myrdal C) Mahbub ul Haq D)Douglas W. Diamond
14 The following is the essential component of human development.
A) Equity B) Sustainability C) Productivity D) All of the above
15 ——mmmee- Factors need to be considered when comparing developing economy with Developed
countries.
A) HDI B) Percapita income C) Agriculture, Industry, Service sector D) All of the above
Q.2.Write short Notes (Three out of Four) . 15
1  Indian Economy and Inclusive Growth
2 Features of population policy in 2000
3 Types of Poverty
4  Causes of Regional Imbalance
Q.3.Write short Answers (Three out of Four) . 15
1 Explain the criteria of inclusive growth.
2 Describe the impact of population growth on economic development.
3 Explain the Measures adopted by Government on unemployment.
4  State the causes of Social Inequality in India.
Q.4.. Answer the following question on broad. (One out of two). 15
1 What is Poverty ? Explain the causes of Poverty.
2 Explain the component of Rural —Urban Imbalance.
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